Solution of Linear Equation Svstems with
Farameters
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Here it seems for all t we get an dnique solution
tand pararmeter t disappears?a)?
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Here it seem=s we hawe to study the special caze
t==32/14%
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Here it seem= the parameter t is without meaning
Lt dizappears?a?

But in case t=@A:
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The rank-function can't compute the rank in
dependence on the parameter tl

If we usze the "ref" or "rref" or "rank" functions
the CP =hould give a message "no solution with
parameters"

another exercise:
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Again,. the rank is depending on the parameters =
and t

Mow using the new created functions LinEgSys
and AYRank in Hain—menu



"Read at first the eActivity LinEgSw=_AVEank"
"Bead at first the e=Activity LinEgsy=_AYEank"
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LinEgSw=simatTls 2. 12
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"If t=22 than we hawve a third exrchange—-step"
"It t=22 than we hawe a third exchange-step"
LinEgSw=simatT2y 3. 12
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matnew=matET
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"matET is the solutions if the last element —-5StACt—F

"matET i=s the =olution. it the last element -5t/ (L=
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"Thus ==-2/7, v=357, zZz=3,14"

"Thus ==—-2/T, »w=3:T, z=5/14"
"Bemark: rank of matsT is 23 for t=8 and 4 otherwisk
"Remark: rank of matsT i 23 for t=8 and 4 otherwizk
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"It t=22 we compute:"
AYERankimatTZs 1212
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"It t=-14 we compute:"
AYRankimatTZ. 2212
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"Thus we hawve 3 sSteps,

"Thu=s we hawve 3 steps,
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"If t2ZE we compute:”
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Fank equals 2 and fore

rank =quals 2 and fork
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"If 4-=+=-t= 3+4=0 we hawe 3 exchange steps"
"It dez+=-ts F+d=20 we have 3 exchange steps"
"If —=-3+1=#68 we have 2 exchange steps too
"If —=-3+1=8 we hawve 2 exchange steps too
solvel{ds+=-t- J+d=B,—=-g+1=B3, L=, t 32
Ls=—Fd,t=—d+4-
"Thus we hawve for s=—g,t=—d4+d-3: rankCAX»=rankCH, -k
"Thus we hawe for ==—g,t=—4+4-3: rankcA>=rankiH. -+
"mow consider 4-s+s-t-3+4#8 and s=-3"
"mow consider 4ss+=-t- 3J+4=*8 and ==-3"
G+t J+d | ==—3
t+4-4- 3
"o, tE-4+4- 3"
Mee. tE-d+4. 3"
"Thus we hawve for ==—-3j and t*-4+4-3: rankiA>=ranlk
"Thus we hawe for ==—gj,t*-4+4-3: rankcA>=rankiH. -+
"mow consider 4-s+s-t-3+4=0 and s*-3"
"mow consider 4ss+=-t- J+4=0 and ==-3"
2. rankiAX=2<rankcA,-b>=3"



".e. rankiAY=Z2<rank A, -b>=3"
"finally if d4.s+s«tsJ+d=20 and —-s« J+120: rank(AI=rark
"Fimally if 4-s+s-t-j+428 and —-z-J+128: rank(A)=rark
"Mow we consider the LinEgSys"

"Mow we consider the LinEgSws"
LinEgSwsimatsST,y 2.2

done
matrnewsmatT]
d t—4-3 -1
A -2Z2-3 1+3
= 4 1
LinEgqSy=imatTl,1.12
done
matrnewsmatT2
t- 3+4 -3
-2 3 1+3
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"If 42=+=-t- F+4*8 we hawve an unique solution"
"If 4-=+=-t-F+4=8 we have an unique solution"
LinEgSw=simatTZ, 2,12
dore
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"Mawe a look on det{A>:"

"mawe a look on detf{H»:"
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—Settdes- J+d- 3
factorOutians, 32
(des+z-t-J+d)- 3
"In case detiA»=H and s=—Fx .. t=—4+4- 3, we har
"Im case detiA»=H and s=—-Fs .. t=—d+d: 3, we hak
matTZ|s=—3 and t=—-4+4.3
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"solution: x=—-4jc—F. w=—2Z2jc+l+3z, zZz=c, c=C"
"solution: x=—d4jc—73, w=—2jc+l+zi, z=c, c=C"
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